= o
N & o & AF & H Al A
2020 & =0l & L BHSI A ARSI = X 1t
SN ALSI S X
2 Lo=XEX
S LEMERE XY CERED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A3l = X 2t 113,132,687 99,305,714 13,826,973
= 58,599,925
J| 1,058,921
< 15,916,813
s 37,557,028
Lo=xsad 68,134,061 56,213,367 11,920,694
= 41,823,799
J| 16,795
< 5,697,796
s 20,595,671
CEMEEE XA 56,491,354 46,940,677 9,550,677
= 41,165,632
J| 16,795
< 2,459,251
s 12,849,676
Lo SAESIR 12,600 12,600 0
307 21201 A 12,600 12,600 0
11T M3 SXAISEEX 12,600 12,600 0
OkelsSAZs N3 A 12,600, 000& 12,600
el g SR 95,720 95,720 0
201 £B-2dH| 5,000 5,000 0
01 At 22/l 5,000 5,000 0
OkLe=XAY 228 HE 5,000,000& 5,000
301 LEAZ 90,720 90,720 0
01 MEIBZE 063 90,720 90,720 0
OB5MI01 & Hofeol AUEHZ X
90,720,000& 90,720
colier 299 28,600 27,500 1,100
307 glz2tol & 28,600 27,500 1,100
11T MISXASEEX 28,600 27,500 1,100
Okolths 2HXA 28,600,000& 28,600
AHIIHA K& 7,000 7,000 0
307 glz2+0l & 7,000 7,000 0
11T MISRASEX 7,000 7,000 0
OaHIEH X& 7,000,000 7,000
x3 44,137,896 38,513,936 5,623,960
= 35,310,317
< 1,765,516
[ia 7,062,063
301 LEHF 44,137,896 38,513,936 5,623,960
= 35,310,317
< 1,765,516
s 7,062,063




SN ALSI S X
Hu: Lo=XEA
Se -EMEEY XS (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MI2EZE+06l= 44,137,896 38,513,936 5,623,960
OJl=d3 44 ,137,896,000& 44,137,896
= 35,310,317
< 1,765,516
[ia 7,062,063
HBHEHXA 24,300 24,300 0
307 21201 A 24,300 24,300 0
11T MISRASER 24,300 24,300 0
HEB0 SN e 7,300,000 7,300
Onz24 HIH 2EXES AFY  17,000,000& 17,000
Z2AE R gAAY 63,700 63,700 0
301 LEEAZ 63,700 63,700 0
01 MEIBEZE 405z 63,700 63,700 0
OZ2AY S SAAY 63,700,000& 63,700
MASTHOL= ol AABHE AL 246,600 246,600 0
301 LEBH S 246,600 246,600 0
01 MEIBEE 5= 246,600 246,600 0
OMASMItL ol AAIBHE ALY 246,600, 000& 246,600
2 F2EA X & 128,950 128,950 0
201 Let24d] 3,950 3,950 0
01 At 22/l 3,950 3,950 0
OZz=2t g2 2 50,0002 * 9OH 450
OkLo=XNs3A 22 M=
100,000& * 35%H 3,500
307 glz2tol & 125,000 125,000 0
11T M Z2XAIS EX 125,000 125,000 0
OZZ2F2t&#H AN XI& (90 SH) 125,000,000& 125,000
colojy ALK 34,120 34,120 0
201 L2l 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
OLQlol & A HEIH M
100,000& * 20 2,000
202 oddl 15,120 15,120 0
01 = LH o4 1l 15,120 15,120 0
OLQ=X HEF& Kl 15,120,000& 15,120
203 YR =] 2,000 2,000 0
03 Al =AY R 2,000 2,000 0
OMEIESXHSR AlMZ=AH| 2,000,000& 2,000
307 glz2tol & 15,000 15,000 0




SN ALSI S X
Mo Lo=XEX
ool LSMEEE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 15,000 15,000 0
Okolod A XA 15,000, 000& 15,000
HOIE=ZUS XA 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
11T MISRASEX 6,000 6,000 0
OZ=JIXA HOIESUHSE 6,000,000 6,000
SHLO SSHdLENE A 29 33,588 34,998 A1,410
J| 16,795
< 3,358
s 13,435
307 21201 A 33,588 34,998 21,410
J| 16,795
< 3,358
= 13,435
11T AL S XAEE = 33,588 34,998 A1,410
OSsHEe SsSHdLB ML 2
33,588,000 33,588
J| 16,795
< 3,358
s 13,435
LogdEssEMtA 2Y 214,260 80,227 134,033
307 21201 A 214,260 80,227 134,033
05 RIZt2IEt = 214,260 80,227 134,033
OLQES=S AL 2 214,259,840 214,260
S2sESsE ALY 30,000 30,000 0
< 10,000
s 20,000
307 gl2tol & 30,000 30,000 0
< 10,000
s 20,000
11T M SXAISE EX 30,000 30,000 0
OSZStESLHAY 30,000, 000& 30,000
< 10,000
[ia 20,000
Colgitel 2 AMSES NAMNS(BEX) 8,737,070 5,936,260 2,800,810
= 4,368,535
< 436,854
e 3,931,681
307 glz2+ol & 8,737,070 5,936,260 2,800,810
= 4,368,535
< 436,854
e 3,931,681
05 RIZt2IE = 8,737,070 5,936,260 2,800,810
o3& (=, NLE) 7,258,450,000& 7,258,450




A AMIEX
2 Lo=XEX
ool LRMEEE X (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 3,629,225
& 362,923
= 3,266,302
OMEAEIAE 551,020,000 551,020
= 275,510
o= 27,551
= 247,959
OANEHE 416,520,000 416,520
= 208,260
= 20,826
= 187,434
OooldEnASE 30,000,000 30,000
= 15,000
o 1,500
= 13,500
OFs)|a dgols 481,080,000 481,080
= 240,540
= 24,054
= 216,486
wolaxiel Y A EsS KA (ZEHIEX) 104,720 155,210 A 50,490
== 52,360
= 52,360
307 2Iz2to| A 104,720 155,210 A 50,490
== 52,360
= 52,360
05 QIZ2tRE 2 104,720 155,210 A 50,490
OLolgdriel & Algl&8s XA (ZHEX)
104,720,000 104,720
= 52,360
= 52,360
AMILIHZEE &9 356,240 300,000 56,240
307 2I2t0| & 356,240 300,000 56,240
05 QIZ2tREF 2 356,240 300,000 56,240
OAMUOEE 294 356,240,000 356,240
SaEd AIY 6,000 6,000 0
301 et A =2 6,000 6,000 0
12 JIEtE2 A= 6,000 6,000 0
Os84+2 X 50,000 * 100t = 12& 6,000
St& &=z A 100,000 100,000 0
301 dEtE M= 100,000 100,000 0
12 JIEtE A= 100,000 100,000 0
Ost&&EA2 XN 100,000,000 100,000
Lolgts=sAHl A 2,123,990 0 2,123,990
= 1,486,780
o= 191,163




A AMIEX
By Lo=xEd
ool LSMEEE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 446,047
307 2iz2to| A 2,123,990 0 2,123,990
= 1,486,780
= 191,163
= 446,047
11T AISIEXAIEEX 2,123,990 0 2,123,990
Ookeolgts=ssAH A 2,123,990,000& 2,123,990
= 1,486,780
& 191,163
= 446,047
LOEIXAIE 29 & 22 11,642,707 9,272,690 2,370,017
= 658,167
= 3,238,545
= 7,745,995
Losia 29 704,000 640,000 64,000
307 QI2t0| ™ 704,000 640,000 64,000
05 QIZtRES 704,000 640,000 64,000
OkLoEia 29| 704 ,000,000& 704,000
LOIAZ AL 29 K& 639,369 656,311 N 16,942
= 447 558
o= 57,543
= 134,268
301 et M= 639,369 656,311 N 16,942
= 447 558
o= 57,543
= 134,268
01 Al E& A %52 639,369 656,311 N 16,942
OLoUZ AL 2HH N 639,369,000 639,369
= 447 558
& 57,543
= 134,268
MO EXAE 29 X 612,930 335,930 277,000
301 et A= 335,930 335,930 0
01 Al E & A 462 335,930 335,930 0
OMILAEXALE 29 X& 335,930,000 335,930
401 Al HI L £ 0HHI 277,000 0 277,000
01 Al& B 277,000 0 277,000
OMIIE I X AMHIAHEH X004
277,000,000 277,000
OIRAANAE IXE 6,000 3,600 2,400
= 2,400
= 3,600
307 giztol A 6,000 3,600 2,400
= 2,400




S ASI=S XD
Ha: L=NEA

R LoEXAE 29 L 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 3,600
10 MM SAANEEHESIGHEX 6,000 3,600 2,400
OJMel2g=XAe 29 X3 6,000,000& 6,000
& 2,400
= 3,600
LOADI@AI 2 AIE20 X 5,173,550 3,201,660 1,971,890
=} 2,741,981
= 2,431,569
301 dEtE M= 5,173,550 3,201,660 1,971,890
=} 2,741,981
= 2,431,569
01 M3 EXEE 4562 5,173,550 3,201,660 1,971,890
OLQAEIRAIZ AIE20H XA
5, 173,550,000 5,173,550
=} 2,741,981
= 2,431,569
LOADI A2 M2 X 1,357,872 637,542 720,330
301 dEtE ™M= 1,357,872 637,542 720,330
01 Al B & X 26 2 1,357,872 637,542 720,330
OLoEIAIZ MIIE2H XA
1,357,872,000& 1,357,872
d2E N 847,074 831,400 15,674
101 2121 ] 6,065 0 6,065
04 JI2ZtHIZ22NEE S 6,065 0 6,065
Os4ds L3 &4 22l 6,065,000 6,065
201 et 4,760 2,000 2,760
01 AFR 2t 2| bl 2,000 2,000 0
OtAa™H L3 ABAEEH
2,000,000& 2,000
02 222%4| 2,760 0 2,760
OS4dg L33 &4 KA 2,760
S pIET= 150,000 = 12& 1,800
-ABIEE R2 80,0008 = 12&€ 960
307 2iz2to| A 39,900 79,000 A 39,100
06 22 19,950 59,250 A 39,300
O3z 282 50,000 = 39904 &~ 19,950
11T A EXAIEEX 19,950 19,750 200
Odg4d d9i=sAY
25,000 * 39904 & x 23| 19,950
402 SI2FXHE0| & 796,349 691,400 104,949
01 BIZtXI =AY B X (KM ) 796,349 691,400 104,949
OdEZE HF4) Z2Huss & A=SAY
47,160,000 47,160




A AMIEX
By Lo=xEd
Sl Lo=XAIM 29 o B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZ=2E XS A 589,889
M= 394,389,000 394,389
-== 40,500,000 40,500
-HE % 155,000,000 155,000
o3z 69,300,000 69,300
oZdze 50,000,000 50,000
Owols WE) FYILY
40,000,000 40,000
A2Y 29H| XK (XA) 522,956 482,400 40,556
301 et M= 522,956 482,400 40,556
01 M EXE 25612 522,956 482,400 40,556
oZzd 294dl XA 522,956,000& 522,956
A2 WY (¥ =H]) X 805,240 852,170 AN 46,930
= 201,310
= 181,179
= 422,751
301 et A= 171,719 852,170 A 680,451
= 42,930
o 38,637
= 90, 152
01 AISIE & A 452 171,719 852,170 A 680,451
oOdz4 &=H K& 171,719,000 171,719
= 42,930
&< 38,637
= 90, 152
307 QI2t0| ™ 633,521 0 633,521
= 158,380
& 142,542
= 332,599
10 MM SAANEEHESIHEX 633,521 0 633,521
OZz g Htgrd] X & 633,521,000& 633,521
= 158,380
= 142,542
= 332,599
9988 & =Lt 0| 571,779 528,299 43,480
o= 171,534
= 400,245
307 212t0| & 571,779 528,299 43,480
= 171,534
= 400,245
11 A EXAIEEX 571,779 528,299 43,480
(09988 &=Lt 0| 571,779,000 571,779
& 171,534
o 400,245
SHEQ Z2sHEF=M XA 48,000 55,000 7,000




2N
X ZH -
L= B

el

Akl = X1 ot
Lo=EXsd

CASTAE 29 & 22

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 48,000 45,000 3,000
01 Al E & A 462 48,000 45,000 3,000
OEHL2 B2SHFH 24|
500,000& = 160 = 6& 48,000
LOINIIAIY DIsEX(EX) 60,000 0 60,000
= 60,000
402 SI2HXHE0| ™ 60,000 0 60,000
& 60,000
02 CIZEXIEAIS E X (0| XM THLH) 60,000 0 60,000
O2gs H=212l 329 JseEd
30,000,000 30,000
== 30,000
OM=ZH QM2 A2 JsEd
30,000,000 30,000
= 30,000
A2y ddold 1 32,659 31,699 960
o= 6,532
= 26,127
307 2I2t0| & 32,659 31,699 960
= 6,532
= 26,127
11 A EXAIEEX 32,659 31,699 960
OZ2Y =3 Tz ) a2z|o 1
32,659,000 32,659
o= 6,532
= 26,127
et olsg s42X38 249 125,208 111,268 13,940
307 QI2t0| ™ 120,669 111,268 9,401
10 A SXNANEEHESIHEX 120,669 111,268 9,401
Oistolg s48=2XN3 2 XA
120,669, 000 120,669
402 SI2FXHE0| & 4,539 0 4,539
01 It EAS E X (M) 4,539 0 4,539
OUgtels s4d2X38 &HEZ X 4,539
-EAMEI 2L 699,000 = 1CH 699
= R=a=ul| 1,920,000& = 204 3,840
eteelsl AlZXe AR= 29X 29,112 28,151 961
= 5,822
= 23,290
307 212t0| & 29,112 28,151 961
= 5,822
= 23,290
10 AISIEXAIEEHE2IHIEX 29,112 28,151 961




A AMIEX
By Lo=xEd
Sl LoSXAY 29 o 2o EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OUstols 2842K3 AIR=2 29X
29,112,000& 29,112
& 5,822
= 23,290
=X I0IAHS 10,800 247,800 A 237,000
== 3,240
= 7,560
307 2Iz2t0| & 10,800 247,800 A 237,000
& 3,240
= 7,560
11 A EXAIEEX 10,800 247,800 A 237,000
OAZEXIII0IAY 10,800,000 10,800
= 3,240
= 7,560
M2 =el=2X 2 AHE 44,000 0 44,000
401 AlEHIZL £ 0HY| 44,000 0 44,000
01 Al&H| 44,000 0 44,000
OHM2 LoE2X 2 AAAHE QI 224
22,000,000 22,000
OHM2 Lo=Xa MolgdszEI 29
22,000,000 22,000
dze 249 N 33,560 33,300 260
&< 5,524
= 28,036
301 et A =2 23,760 23,700 60
& 3,564
= 20,196
01 Al E & A 462 23,760 23,700 60
Odzgd 2d=2 =2 K& 23,760,000 23,760
o= 3,564
= 20,196
307 QI2t0| & 9,800 9,600 200
& 1,960
= 7,840
11 A EXAIEEX 9,800 9,600 200
OZzE3d W=aH & 9,800,000& 9,800
& 1,960
= 7,840
LURQAANE Js2 18,598 0 18,598
= 9,299
= 2,790
= 6,509
402 RI2H X201 M 18,598 0 18,598
= 9,299
= 2,790
= 6,509




A AMIEX
Hu: Lo=XEA
Sel To=TAE 29 % 2 CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 18,598 0 18,598
OLQ=TAL SRS X (AL2)
18,598,000 18,598
= 9,299
< 2,790
= 6,509
HAEEXSKX 1,608,728 1,389,816 218,912
2 381,536
J| 535,085
< 193,758
= 498,349
He =X 961,218 836,430 124,788
= 381,536
J| 63,328
= 115,881
= 400,473
HEH K& 43,060 41,602 1,458
201 gBt24y| 2,000 2,000 0
01 AP 2t 2| H| 2,000 2,000 0
OWMEEH S=A EXI M2
100,000& * 207K 2,000
301 LBt N = 600 570 30
09 HAIAHI X & 2 600 0 600
OHdEH & - UEFALAL B4
20,000& * 15¥ * 23| 600
307 212t0| & 40,460 39,032 1,428
10 AISIEXAIEEHE2IHIEX 24,420 22,992 1,428
OWESHEAS X 24,420,000 24,420
11T AISIEXAIEEX 16,040 16,040 0
OWAEXEX fEW=H 11,000,000& 11,000
O&d&DE 29X 5,040,000& 5,040
Hdg2 29 50,834 51,534 AT700
201 gEt2Ad| 32,334 44 134 A 11,800
01 AP 22| H| 12,060 9,860 2,200
Odg & 2g2tel =24l 11,100
-Se3 2 Hi£EZ HA 1,200,000 1,200
-Hdge ARE 2Y 2,500,000 2,500
-HAFOIDIENE ARE 22 2,000,000 2,000
-ABAIEEAESEES 3,000,000& 3,000
S Rl PSE el ey 150,000 = 123] 1,800
-H4)| X2 50,000 * 1§ = 12&€ 600
O A= 80,000& = 12€ 960
02 2224 20,274 34,274 A 14,000




AN ALEI =X
3 dd=Nsd

el HgsX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OXIRS 500,000& = 12& 6,000
OAetdE 3l 50,000& = 13l 50
Otz 1,2002 = 300 = BAIZH » 105 3,024
Odsla A=Kl 3,000,000& 3,000
On4dsal2 BteEE A 4,000,000& 4,000
ORI AHIAAE 350,000& = 12& 4,200

405 XtatE SHI 18,500 7,400 11,100

01 XML = ZH SHI 18,500 7,400 11,100
O1& Zd oA 5,000,000& = 1CH 5,000
OXistalg HASD] 1,000,000 = 1CH 1,000
OXlotalg 88 W& 2,000,000& = 1CH 2,000
OZolal =y 150,000 * 6CH 900
OWEHDIIIEsWE =S 800,000& » 1204 9,600

ES0H0EM (BRI AY)EY 43,380 40,980 2,400
= 13,014
s 30,366

101 14 dl 43,380 40,980 2,400
< 13,014
s 30,366

04 JIZHHZ2XNHESE+ 43,380 40,980 2,400

ESHHUEN (M E e AlY) 29

43,380,000 43,380
< 13,014
s 30,366

It EZHMEA 29 122,201 114,191 8,010
J| 61,101
= 30,550
[ia 30,550

307 21201 A 122,201 114,191 8,010
J| 61,101
< 30,550
[ia 30,550

10 AL SXNAIEEE2EHEX 122,201 114,191 8,010
oixzg=Egagasr 29 1A 122,201,000& 122,201
J| 61,101
< 30,550
i 30,550

IFEEZSEIHAL D¥XNE T2 1,634 1,815 A 181
J| 1,144
= 245
s 245

307 glz2tol & 1,634 1,815 A 181
J| 1,144
< 245
i 245




SN ALSI S X
M Hd=2XSsd
S ECEEESY o HE)
= - — SHE|
SN HH-S(BN) - MBAY - B e 2t
11 AISI S XA E = 1,634 1,815 A 181
ONE=gIdx w¥Xs T8 29
1,634,000 1,634
| 1,144
< 245
s 245
=S 2=l 1,547 1,714 A167
| 1,083
< 232
= 232
307 gl2tol & 1,547 1,714 A167
| 1,083
< 232
= 232
11 AISI S XA E = 1,547 1,714 A 167
ONE=gUaikt 2=z XA 1,547,000 1,547
| 1,083
< 232
[ia 232
=S A=K 1,350 1,350 0
< 405
[ 945
307 21201 A 1,350 1,350 0
< 405
e 945
11T AISI S XA E X 1,350 1,350 0
Oss&dgM 24 XI& 1,350,000 1,350
S 405
s 945
e HY XI& 15,000 10,000 5,000
< 4,500
s 10,500
307 21201 A 15,000 10,000 5,000
< 4,500
[ia 10,500
11 ALSI S XAEE = 15,000 10,000 5,000
OXYs &g Agussd 29 15,000,000& 15,000
< 4,500
s 10,500
e HIXNJAHEH 29 45,600 44,544 1,056
< 13,680
e 31,920
307 glz2+ol & 45,600 44,544 1,056
< 13,680
s 31,920
11 ASI S XA E = 45,600 44,544 1,056




AN ALEI =X
3 dd=Nsd

@2 dg=sEX (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OW&EHIRAIZ 29 45,600,000& 45,600
< 13,680
[ia 31,920
OOl S s Kl & At 545,052 432,760 112,292
= 381,536
= 49,055
[ 114,461
301 LA S 345,052 240,720 104,332
= 241,536
< 31,055
i 72,461
01 MEIBEE 2063 345,052 240,720 104,332
OOl0IES X (22H=31S) 345,052,000 345,052
= 241,536
< 31,055
s 72,461
307 gl2tol & 200,000 192,040 7,960
= 140,000
< 18,000
s 42,000
05 RIZHRI & 3 200,000 192,040 7,960
O0t0lE=E NEAY 200,000, 000& 200,000
= 140,000
< 18,000
[ia 42,000
=X X2 52,560 39,120 13,440
201 Let24E] 7,200 7,200 0
01 At 22l 7,200 7,200 0
OZ20l% S UIDS ALY
400,000& * 43 = 2&27| 3,200
Odetd 222 S M 2,000,000& 2,000
OE=XAR HoBH (B4 S)
2,000,000& 2,000
202 (44l 6,960 1,200 5,760
01 S LHOIYI 6,960 1,200 5,760
Onddx =& ol 5,760,000& 5,760
ONdaat 2 2= Kl 1,200,000& 1,200
301 LA F 38,400 30,720 7,680
12 JIE243 38,400 30,720 7,680
OWEHFHDIIsNSE M
480,000 = 10t= * 20| = 48 38,400
HAEZRSEZA =4 27,000 10,220 16,780
201 Lt 3,000 5,000 A 2,000
01 At 22l 3,000 5,000 A 2,000




SN ALSI S X
g d=1sd
SR CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz s ZA=Y 1,000, 000& 1,000
ONMES BEMR B4 S X
2,000,000& 2,000
301 LA S 15,000 4,220 10,780
09 HALAHIXI &3 2,100 1,500 600
OMIEHZ 2==X9 #X02 1,500,000 1,500
ONEEHZ S £.5% DSFSL 24
20,0003 = 15H =« 23| 600
1224 = 12,900 2,720 10,180
ONMEZHZ= 8324 20,000& = 39H =« 53| 3,900
Odzlst s ZAt=g 2,000,000& 2,000
OxNgous Z20HY 7,000,000& 7,000
303 Z& 3 1,000 1,000 0
01 243 1,000 1,000 0
OWEEBEA AHHFE K2 Z&3 1,000
X R 300,000& = 12H 300
-2 200,000& = 204 400
-& o 150,000 * 20K 300
307 glz2tol & 8,000 0 8,000
11 ALS S XAEE = 8,000 0 8,000
oxgarzey g= & XA 8,000,000& 8,000
OO SSXNJAEEH SAXN dHA 1,200 0 1,200
< 480
i 720
307 glz2+ol & 1,200 0 1,200
< 480
s 720
11T MISXASEX 1,200 0 1,200
OOt =SSN EE SAX ML H|
1,200,000& 1,200
< 480
e 720
HAEFHLRRAI 2 SAL HRM&H XA 1,200 1,200 0
< 360
= 840
307 glz2+ol & 1,200 1,200 0
< 360
s 840
11T MIZSXASEEX 1,200 1,200 0
OWEHSXNEII2 SML MMl K&
1,200,000& 1,200
< 360
e 840




2N
X ZH -
L= B

el

o4
o4

Akl = X1 ot

EEVEL

g=1K

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

o

0x

= a4
==

(1]

SAIE SAA HRIHAH|

EUNL

4,800

1,920
2,880

,600

1,200

307 21201 &

UL

4,800

1,920
2,880

,600

1,200
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-5 945,540 946
FAHES OIS ESMEIA N (ESHAEE) 289,252 312,847 N 23,595
= 191,740
&< 19,174
= 78,338
101 Q121 H| 93,502 151,185 AN57,683
= 35,140
& 3,514
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- _ _ RE]
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o 54,848

03 2INHAZZ2XHE % 93,302 91,093 2,209
OEYAEE 2| AH XA ol2H| 43,725
23 38,347,000 38,347
= 30,678
& 3,068
= 4,601
-AlZ2te 2R ae 3,545,640 3,546
= 2,837
& 283
= 426
-E2X= 4| 432,000 432
= 345
& 35
= 52
-JI20d ¥ nxzEAY| 1,400,000 1,400
= 1,120
= 112
= 168
QESHAEE RIIHUR M3t QI AHH| (XA 49 577
-2=EJHA 2 16,390, 000& 16,390
-AXRassE 1,892,000 1,892
-S54 1,892,000 1,892
|2 12,783,000& 12,783
-JHH B2 &l 6,060,000 6,060
ks Y 960
il 2 Xt 960,000 960
-H & 50| 2,400,000 2,400
-XASOHAZ 1,200, 000& 1,200
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201 B9 17,100 19,440 N2,340
= 13,680
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= 7,200
o=} 720
= 1,080
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29,400,000 29,400
= 23,520
< 2,352
i 3,528
25EI0ts NE=+E 151,200 103,273 47,927
= 120,960
= 12,096
s 18,144
301 LEHZ 151,200 103,273 47,927
= 120,960
= 12,096
s 18,144
01 MI2EZE 06z 151,200 103,273 47,927
O2s&E20ts e 151,200, 000& 151,200
= 120,960
= 12,096
s 18,144
ANEE 0SS THEXE 85,000 95,000 A 10,000
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-R= 200,000& = 29H 400
- 100,000& * 3%H 300
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Akl = X1 ot
ots=Xsd
OSSXAIE XIg & 22l
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5,391,600

S

EUNLY

298,000
149,000

44,700
104,300

298,000

S

EURLY

298,000
149,000

44,700
104,300

298,000

298,000,000&

S

M

298,000
298,000

149,000
44,700
104,300

298,000

EUNE

16,500

6,600
9,900

16,092

408

Mo

16,500

6,600
9,900

16,092

408

16,500,000&

M H

16,500
16,500

6,600
9,900

16,092

408

Mo

338,929

132,979
39,894
166,056

282,173

56,756

101 1Al

MW

338,929

132,979
39,894
166,056

282,173

56,756

03 RIHAZ 22>
OO0tsE XA 2I12

-Jl=s

ol A H|

215,721,450&

39,806,276&

el 2A I (XHA)
8,195,000&
945,540&
945,540&

Mo R

HH A

328,501
255,529
215,722

107,861
32,358
75,503
39,807

19,904
5,971
13,932

72,972
8,195
946
946

48,984

279,517
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
g 6,392,000& 6,392
-JtH 2 &8I 3,030,000& 3,030
s 480
bH < Xt 480,000& 480
- EF O 12,060,000 12,060
-AHSIHE = 600,000& 600
- A G A 24,960,000 24,960
W S8 AH| 14,472,000& 14,472
-Jl20H ¥ WSEEFA 300,000& 300
“A2+Rl 222 (X FASI S XIAF)  590,940& 591
04 D12t 22 HEE = 10,428 233,189 A 222,761
OO0ts= X WAL THAX & 10,428,000& 10,428
= 5,214
< 1,565
s 3,649
ANSEotsdEH X& 101,800 101,800 0
301 LEHZ 9,000 9,000 0
01 MI2EZE 05z 9,000 9,000 0
ozeza X& AY 9,000,000& 9,000
307 glz2+ol & 92,800 92,800 0
10 ALSISXAIEEE2EHEX 23,000 23,000 0
OXNY0tsdy deted X3 23,000
-dety| 200,000& = 170 = 28 6,800
=l 300,000& * 1804 » 3 16,200
11T AL SXAIEE = 69,800 69,800 0
OXdotsdH Megsts X
300,000& ~ 184 « 123 64,800
OXdotsdH 233 XA 5,000,000& 5,000
NEotsde 248 XN 1,277,040 1,170,000 107,040
= 638,520
< 191,556
s 446,964
307 gl2tol & 1,277,040 1,170,000 107,040
= 638,520
< 191,556
s 446,964
10 ALl SXAIEEHE 2 H EX 1,277,040 1,170,000 107,040
OXlgotsdH 2gHl(JI229dl) X&
1,277,040,000& 1,277,040
= 638,520
< 191,556
e 446,964
NGotsdEH AN HLM&H XA 50,400 49,200 1,200
< 20,160
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30,240

307 21201 A 50,400 49,200 1,200

20,160
30,240

M

10 AFRIS XA EHE 23

OXSGotsHH AL H

H

ES 50,400 49,200 1,200
Sl K&
50,400,000& 50,400

20,160
30,240

M H

NA0tsdEH SAX Scl=4d X2 49,200 49,200 0

301 LetE2H =S 49,200 49,200 0

23802 49,200 49,200 0
of A

49,200,000& 49,200

XNeotsHEe 2 X2 (KHA) 12,600 12,300 300

5,040
7,560

EUE

307 gl2tol ™ 12,600 12,300 300

5,040
7,560

UL

10 A SAAIEHISSHIEX 12,600 12,300 300
OXdotsdy 2 X&(XHAM) 12,600,000 12,600

5,040
7,560

M H

EXNG0otsHE XA 44,492 44,492 0
22,246

6,674
15,572

MW

307 Q12+0| ® 44,492 44,492 0
22,246

6,674
156,572

MW

10 ALSISAAEEI2IHES 44,492 44,492 0
OLAeXAISHE X2 44,492,000 44,492
22,246

6.674
16,572

MW

n
4
o
Jd

g XNGotsHe =X 43,848 43,848 0
21,924
577
15,347

MO W
o

307 glztol & 43,848 43,848 0
21,924
577
15,347

HoH W
o

10 A SXNAIEHE2SHIEX 43,848 43,848 0
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el OISSXAIE X8 2 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEEEF I EL N ERESIAE
43,848,000 43,848
= 21,924
< 6,577
i 15,347
OIs2sd202 & JHEAEXNJUH A2 = 76,117 37,983 38,134
308 A EHHSOIA 76,117 37,983 38,134
07 IXNHMAR S = 76,117 37,983 38,134
OOlSESHRII22E NZRES
18,500, 000& 18,500
OJINEAEXNAEHZE ANZ2RES
17,118,000& 17,118
OUSESHEIZ R AN=Z2RES
1,750,000 1,750
ONFASXNVME LY NRRED
615,000& 615
OUSESHIIIZA2E AN=Z2RES
19,517,000& 19,517
ONESSNAMESE ANZRED
16,208, 000& 16,208
OUSESHEIZ R A=Z2RES
1,796,000 1,796
ONFILNAME 2+ ANZRLD
613,000& 613
EQRI XNYotsdH FIHAA 7,296 7,296 0
= 3,648
< 1,094
s 2,554
307 21201 A 7,296 7,296 0
= 3,648
= 1,094
[ia 2,554
10 AL SXNAIEEE2EHEX 7,296 7,296 0
OCER2Y XdotsdH FIHAR
7,296,000 7,296
= 3,648
< 1,094
[ia 2,554
ANSG0otsdH S#ZHHd K& 58,115 70,000 A 11,885
= 29,058
< 11,623
s 17,434
402 RI2HXt20l ™ 58,115 0 58,115
= 29,058
< 11,623
[ia 17,434
02 It 2 AL EZ (01X THS) 58,1156 0 58,115




A AMIEX
HM: OlsSSASA
e OISEXAIE XY & 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNotsHEH StHMS K& 58,115,000& 58,115
= 29,058
= 11,623
= 17,434
dASOE NEXRA 9,283 10,240 N 957
= 6,498
& 1,114
iy 1,671
301 LetE N 9,283 10,240 N 957
= 6,498
& 1,114
o 1,671
01 Al B & X 26 2 9,283 10,240 N 957
OdAHEOE NEAHA 9,283,000 9,283
= 6,498
= 1,114
= 1,671
=X 1332 26,701,300 26,837,213 A 135,913
= 11,393,947
= 8,860,906
= 6,446,447
AR0 HE=EH 17,221,097 17,320,610 N99,513
= 7,480,273
o= 6,533,055
= 3,207,769
Helold & otsX& 671,320 703,000 A 31,680
202 044l 10,120 8,200 1,920
01 2Ll 10,120 8,200 1,920
OEEY: =&Y 10,120,000 10,120
301 et A= 661,200 694,800 A 33,600
01 Al E & A 462 661,200 694,800 A 33,600
O0elold &S AH K&
200,000€ = 60 A& ~ 12€ 144,000
ONeold 3 - 2taldl X
7002 * 2,9009¥ * 240 487,200
OX &AL TSASH 30,000,000 30,000
Helold SAX K& 35,610 25,610 10,000
201 2Bty 1,500 1,500 0
01 AP 22| d| 1,500 1,500 0
oOoelol AFFA dBt=2H| 500,000& 500
OO elol SN E2ER S22 22 A
& 100,000& = 10& 1,000
301 LeteE ™ 1,010 1,010 0
09 HAIAHI X & 2 210 210 0
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Sol: YRO AHSH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNgEsdMAAG HAX SAH
7,000 * 159 * 23| 210
12 JIEtE2 A= 800 800 0
O0RI0IE DY DS ALY
400,000& = 23] 800
307 2Iz2to| & 33,100 23,100 10,000
11T A EXAIEEX 33,100 23,100 10,000
O848z B3 15,000,000 15,000
OHEold WMHun=22d 3,100,000& 3,100
OO0l B2 2fHS
50,0008 = 100¥H 5,000
O0E0IE E€SNZE ol AL (50% NHEE)
20,000,000& * 50% 10,000
8L XH 2,097,173 2,369,230 N272,057
= 1,363,163
o= 367,005
= 367,005
301 et M3 2,097,173 2,369,230 N272,057
= 1,363,163
o= 367,005
= 367,005
01 Al E& A %52 2,097,173 2,369,230 N272,057
OJFldsd=4 & 2,097,173,000& 2,097,173
= 1,363,163
& 367,005
= 367,005
AR0EE=2 XS 9,410,938 9,124,170 286,768
= 6,117,110
& 1,646,914
= 1,646,914
301 et A =2 9,410,938 9,124,170 286,768
= 6,117,110
& 1,646,914
= 1,646,914
01 Al B & A 462 9,410,938 9,124,170 286,768
OggotEEzs X 9,410,938,000& 9,410,938
= 6,117,110
= 1,646,914
= 1,646,914
Sty 29 4,504,136 4,640,000 A 135,864
= 4,504,136
301 et M= 4,504,136 4,640,000 A 135,864
= 4,504,136
01 M3 EXE 2562 4,504,136 4,640,000 N 135,864
Oy 89 4,504,136,000& 4,504,136
& 4,504,136




SN ALSI S X
M ExFEM X2
Sol: YRO AHSH EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Helold 2E28Y B8 N 361,920 318,600 43,320
301 getEd 3 361,920 318,600 43,320
01 Ml2ZE 6= 361,920 318,600 43,320
O3M E€& XHUXA
76,0003 * 220F » 12& 200,640
O4~B5M B IHXA
56,0003 = 240H » 123 161,280
FOISHNHH 84 22 29 140,000 140,000 0
< 15,000
i 125,000
307 Qiz2tol & 140,000 140,000 0
= 15,000
s 125,000
10 M2 SXNANEHES2IHEX 140,000 140,000 0
OS0IZEXNHH S8 24 2L (018 THA)
140,000, 000& 140,000
< 15,000
s 125,000
Heloldy 28 2 22 9,480,203 9,516,603 236,400
= 3,913,674
= 2,327,851
[ia 3,238,678
Oeold naA ez XA 360,000 360,000 0
301 LPENF 360,000 360,000 0
01 AL EE E 563 360,000 360,000 0
O0egold w3 =el=44
50,000& = 600 = 12& 360,000
Heold deteyl X 81,900 87,100 25,200
307 glz2+ol & 81,900 87,100 A5,200
10 ALSISXAIEEE2EHEX 81,900 87,100 25,200
Oeold Hitgyl X 81,900
=Rl 200,000 = 63~ = 2 25,200
=l 300,000& » 634 » 3 56,700
Helold =el@ olAHdl K& 96,000 96,000 0
307 21201 A 96,000 96,000 0
10 ALSISXAIEEE2GHEX 96,000 96,000 0
oogold =cl&d ezt XA
200,000& = 40004 « 12& 96,000
EKUAA lAH XA 5,318,360 5,636,260 A 317,900
= 2,659,180
< 1,329,590
i 1,329,590
301 LBEXS 5,318,360 5,636,260 A 317,900
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2,659,180
1,329,590
1,329,590
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01 Al 2&H =062 5,318,360 5,636,260 A 317,900
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5,318,360,000& 5,318,360
2,659,180
1,329,590
1,329,590

Mo H

oglolg Xa 213,700 190,436 23,264
106,850
53,425
53,425

Mo H

307 21201 & 213,700 190,436 23,264
106,850
53,425
53,425

Mo A

10 A SXAEHE2SEHIEX 213,700 190,436 23,264

OuMuw=8l X& 33,380,000& 33,380
16,690
8,345
8,345
Oxg2gd X 156,720,000& 156,720
78,360
39,180
39,180
OsHEA2M HelHeold XI¥ 23,600,000 23,600
11,800
5,900
5,900

Mo A

Mo A

MW

Oeoly ¢8ZHe sHME X2 6,813 7,975 A1,162
2,725
4,088

M

307 glztol & 6,813 7,975 A1,162
2,725
4,088

Mo

1A SXAIE 2 = 6,813 7,975 A1,162
Onglolsd H&dsHa SHE K&
6.,813,000& 6,813

2,725
4,088
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o
0
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I
o
0
9
it
I
1
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0

46,540 45,500 1,040

13,962
32,578

M

301 LEIEN = 46,540 45,500 1,040
13,962
32,578

M

01 AR 2ZH =53 46,540 45,500 1,040
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595,000

238,000
357,000
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EURLY
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238,000
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EUNE
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765,780
382,890
191,445
191,445
560,860
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140,215
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1,352,000
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307 glztol &

Mo

803,780
401,890
200,945
200,945

700,560

103,220

10 A SANAIEHISSHIEX

OBxXwA XI&

O™ WA XI&

739,600,000&

64,180,000&

MR

HH A

803,780

739,600
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184,900
184,900
64,180
32,090
16,045
16,045

700,560

103,220
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24,625
24,625

62,000
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15,000
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S22 (&) 4,000,000& 4,000
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1,000
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